XSDOM VA
B RS £ T S, B 907 HANSAVFLEX

_}:3 L7
O KES RGBT 51 S

) T =, S -
o2 KBRS AR A
BHER 2 200 [ f o

o ¥
GHRE  EERBREETBR ] N
ZRKX AE0° A OR
wE DIN 2353 T
1SO 8434-1 G

HEBE | EEFTHRRSNYIN . D _
[T} TN
#R
BXRE, BA. EHOANAEN TREN P BEESHERREENERES,
TR
NBR A1 R 0 2 5 £
FPM ( BR) MES ERIEH
%@
XSDOM 04 LL VA LL PN 100 4 M8x1 12,5 8,0 23,5 10,5 13,5 19,0 18 17 -
XSDOM 06 LL VA LL PN 100 6 M10x 1 14,5 8,0 23,5 10,5 13,5 19,0 17 17 7.65x1.78
XSDOM 08 LL VA LL PN 100 8 M10x 1 14,5 8,0 23,5 10,5 13,5 19,0 17 17 7.65x1.78
XSDOMNWO04HLVA L PN 315 6 M10x1 14,5 8,0 23,5 10,5 12,0 19,0 17 17 7.65x1.78
XSDOMNWO06 HLVA L PN 315 8 M12x15 17,5 12,5 29,5 14,0 14,5 21,5 22 19 11.10x1.78
XSDOM NWO0S8HLVA L PN 315 10 M14x15 18,5 12,0 30,0 14,0 15,5 22,5 22 19 11.10x1.78
XSDOMNW10HLVA L PN 315 12 M16x15 225 12,0 35,0 16,5 18,0 25,0 27 24 14.00 x 1.78
XSDOM NW 13 HLVA L PN 315 15 M18x15 235 12,0 46,0 21,5 21,5 28,5 32 27 18.77 x 1.78
XSDOM NW 16 HLVA L PN 315 18 M22x15 27,5 12,0 46,5 21,5 21,0 28,5 32 27 18.77 x 1.78
XSDOM NW 20 HLVA L PN 160 22 M26x15 325 16,0 52,0 24,0 27,5 35,0 41 36 23.81x2.62
XSDOMNW25HLVA L PN 160 28 M33x2 39,5 18,0 64,0 30,5 32,0 39,5 50 46 29.82x2.62
XSDOMNW32HLVA L PN 160 35 M42 x2 49,5 20,0 75,0 35,5 36,0 46,5 60 50 37.77x2.62
XSDOM NW40HLVA L PN 160 42 M48 x 2 55,5 22,0 88,0 40,5 40,5 51,5 70 60 41.28x3.53
XSDOMNWO3HSVA S PN 400 6 M12x15 17,5 12,0 30,0 14,0 16,5 23,5 22 19 11.10x1.78
XSDOMNWO04HSVA S PN 400 8 M14x15 18,5 12,0 30,0 14,0 16,5 23,5 22 19 11.10x1.78
XSDOMNWO6HSVA S PN 400 10 M16x15 225 12,0 35,0 16,5 18,5 26,0 27 24 14.00x 1.78
XSDOMNWOSHSVA S PN 400 12 M18x15 23,5 12,0 35,0 16,5 18,5 26,0 27 27 18.77 x 1.78
XSDOMNW10HSVA S PN 400 14 M20x1.5 25,5 14,0 46,0 21,5 22,5 30,5 30 27 18.77 x 1.78
XSDOMNW13HSVA S PN 315 16 M22x15 27,5 14,0 46,0 21,5 22,0 30,5 30 27 18.77 x 1.78
XSDOMNW 16 HSVA S PN 315 20 M27 x2 32,5 16,0 52,0 24,0 26,5 37,0 41 36 23.81x2.62
XSDOMNW20HSVA S PN 250 25 M33x2 39,5 18,0 64,0 30,5 31,5 43,5 50 46 29.82x2.62
XSDOMNW25HSVA S PN 160 30 M42x 2 49,5 20,0 75,0 35,5 37,0 50,5 60 50 37.77x2.62
XSDOMNW32HSVA S PN 160 38 M48 x 2 55,5 23,0 87,0 40,5 41,5 57,5 70 60 41.28x3.53

PN=#IEEN PB=HBAIHEN - FHURILL=3kER =K S=& - 0=EHER

FREE
XSDOM B NIBRIERE TR, AE0°, W
SDOM VA [EHEABREELTTRAEWN, THN

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
03.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



